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Section B (40 marks)  Working steps must be shown in answering questions in this
section unless specified otherwise.
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31(a). | 9>9+(5+9)x102x4 ,
=361 ,
The area of the plastic sheet is 361cm?.
9>0+(5+9)x102x4 )
=361 2
W5 e fF £361cm? 4
31(b). bottles can be fully filled at most.
N = 3 5, o 2
32(a). | The greatest difference between the amount of teapot
produced and ordered was in __November
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Because From July to September, shop W had:
750+ 750+ 800 —600— 750 —900 = 50(teapots)
The amount produced was 50 teapots more than
the amount ordered in shop W by September. 3
(Accept any other reasonable explanations)
d=134 " WG A&
750+ 750+800—600—750—900 = 50(®)
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33(a).
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The perimeter is . (Give your answer with a unit)
R E_80cm (B HR) 2
11
=95 2
The number of female members is 95. ?
11
=9 2 4
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0.6X0.6X0.6Xx10
=2.16 2
The volume of the stand is 2.16m?, 2
0.6X0.6X0.6x10
=2.16 2
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35(a).

35(b).

36(a).

36(b).

36(c).
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1
(4600+800)+12+175

2
=300
The average fee per hour for the ceramics class is $300.
1
(4600 + 800)+12+1§
=300
14T 3a5 | pFz 3 $300 o

Let $x be the course fee for the football class.
2x = 4600

x = 2300
The course fee for the football class is $2300.
KETRFT 2 F 7 X o
2x = 4600

x = 2300

A rprr > 5§ 5 £$2300 -
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School is in the north-west of the Cinema.
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12—12>6-8

=3

Each bottle of juice was cheaper by $3 on average.
12 —12>6-8

=3
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They should pay $ in total.
P EEHS 3384 o

m
N2
O




